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What am I?

Math in English

Find the answer and use the letters to answer the riddle

20 ÷ 5 = 4 V

18 ÷ 6 = B

63 ÷ 7 = N

8 ÷ 8 = C 48 ÷ 8 = A

60 ÷ 6 = G

28 ÷ 4 = E

24 ÷ 3 = R

8 ÷ 4 = I

0 ÷ 7 = D

45 ÷ 9 = K

Which bank hasn’t got any money ?
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What am I?

Math in English

Find the answer and use the letters to answer the riddle

20 ÷ 5 = 4 V

18 ÷ 6 = 3 B

63 ÷ 7 = 9 N

8 ÷ 8 = 1 C 48 ÷ 8 = 6 A

60 ÷ 6 = 10 G

28 ÷ 4 = 7 E

24 ÷ 3 = 8 R

8 ÷ 4 = 2 I

0 ÷ 7 = 0 D

45 ÷ 9 = 5 K

Which bank hasn’t got any money ?


